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Capacity – 3 

1. 
�

�
 th of 2 liter is equal to ________. 

a) 500 ml       b) 400 ml 

c) 600 ml       d) None of these 

2. 2700 ml is equal to ________ liter. 

a) 0.27 liter      b) 27 liters 

c) 2.7 liters      d) None of these 

3. How much water one glass can carry? 

a) 5 liters       b) 50 ml 

c) 250 ml       d) 50 liters 

4. 45 liters 720 ml  is equal to ________ ml. 

a) 54720        b) 57420 

c) 4572       d) 45720 

5. 3 drums hold 255 liter 750 ml of water. How many liters 9 similar drums will hold? 

a) 762 liter 750 ml      b) 767 liter 250 ml 

c) 762 liter 750 ml      d) None of these 

6. In the morning there were 7 
�

�
 liters of milk in a water jar. In the evening it is noticed that 2210 ml 

water remained in the jar. How much water was consumed in the entire day? 

a) 5 liter 700 ml      b) 5 liter 39 ml 

c) 5 liter 390 ml      d) None of these 

7. Bob bought 65 liter 750 ml of mustard oil from one shop and 32 liter 10 ml mustard oil from other 

shop. How much oil did he buy in total? 

a) 977 liter 60 ml      b) 97 liter 760 ml 

c) 97 liter 670 ml      d) None of these 

8. 10 liters milk cost Rs. 250. What is the price of 15 liter 250 ml milk? 

a) Rs. 381.25      b) Rs. 318.25 

c) Rs. 381.52      d) None of these 
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9. Multiply 92 liter 25 ml by 30. 

a) 2760 liter 570 ml     b) 2760 liter 750 ml 

c) 2706 liter 750 ml     d) None of these 

10. 22 liter 75 ml is equal to __________. 

a) 2275 ml      b) 22750 ml 

c) 22075 ml      d) None of these 

11. How many 100 ml milk bottle can be filled by 5 Liters 500 ml milk? 

a) 10       b) 40 

c) 50       d) 55 

12. How many times 250 ml bottle will be used to measure 20 liters of milk? 

a) 60       b) 70 

c) 75       D) 80       

13. During flood, government distributed 550 liters of milk among 100 families. How much milk each 

family received? 

a) 5500 ml      b) 5 liter 500 ml 

c) 6500 ml      d) Both A & B 

14. 250 ml medicine bottle costs Rs. 132. What is the cost of 5 liter medicine? 

a) Rs. 2640      b) Rs. 2406 

c) Rs. 2460      d) None of these 

15. A bucket of water can hold 20 L 750 ml of water. A jug can hold 
�

�

 th less water than the bucket. How 

much water jug will hold? 

a) 15 L 600 ml      b) 16 L 600 ml 

c) 16 L 6 ml      d) 16 L 60 ml 

  

     


